Planck’s Constant h is both erg and gram minimums!

Ode to de Broglie

His famous hypothesis maybe says it all,

And it had to come along so Einstein could fall!

Einstein was right about the photon having mass;

But Planck’s constant turns into a Cheshire Cat fast!

We think h is in ergs when it could be in grams 

While electron mass constant at h really jams!

Schrödinger saw the electron as moving wave;

But as a moving mass it is always h-saved.

Einstein saw the photon as particle of light

With an energy that tied h in ergs up tight.

Photon is minimum energy quantum for sure:

h grams for the electron is simple and pure. 

Confusion of mass and energy by de Broglie and Einstein

Louis de Broglie’s wave nature of all matter demanded more careful analysis of the physical meaning of Einstein’s E = Mc2.  But a unit of Mass cannot be synonymous with a photon whose energy is h ergs; whether viewed as a particle or wave. It was prophetic for a PhD thesis far beyond what was realized at the time. The write up on him in Wikipedia (pasted below) is well done and fully justified--because he made Einstein’s theory both possible and then-acceptable. It also tells how to pronounce his name, but it will never make it with most of the human race! The most impressive part for me is that he came up with it during my birth year!

 In physics, the de Broglie hypothesis (pronounced /brœj/, as French breuil, close to "broy") is the statement that all matter (any object) has a wave-like nature (wave-particle duality). The de Broglie relations show that the wavelength is inversely proportional to the momentum of a particle and that the frequency is directly proportional to the particle's kinetic energy. The hypothesis was advanced by Louis de Broglie in 1924 in his PhD thesis[1]; he was awarded the Nobel Prize for Physics in 1929 for this work, which made him the first person to receive a Nobel Prize on a PhD thesis. 

It turns out that a photon whose energy is h ergs does not have enough mass to be measured.  The fact that we indelibly experience and therefore measure physical reality one electron at a time, means that the h used in the de Broglie hypothesis had to be mass in grams not energy in ergs based on its application to Einstein’s famous energy-matter relation, E = Mc2.  where it is just now (here) understood that the minimum value of M has to be 1/h photons as a count of minimum energy quantum of h ergs each. The electron-produced h-symmetry between minimum energy and minimum mass thus allows us to crudely predict but be totally confused about energy and mass at the Planck’s constant h level. 

 E = hc2 is for the electron as mass, h, but hf applies to the smallest unit energy of a single frequency pulse of whatever smallest unit of mass that is being pulse moved. Much easier said than visualized in mechanical detail. 

The frequency of light in open space is c2, which mechanically means that whatever mass is being pulsed moved in parallel per second must have a unit linear energy of f =  v2. Energy keeps on being a direct measure of radiation energy---how could the variable, n, in E = nhf, be anything other than a large count of photons ---as tiny minimum energy quantum, h, that are crowding through the relatively huge radiation measurement aperture per unit of our measurement time?!

Let f be the frequency of electron passage as minimum mass measure-- being pulse  moved through our auto-instrumented molecular-sized, anthropic aperture. Then let n be the parallel count of electrons moving through the molecular size aperture, and viola! The de Broglie hypothesis, λ = h/mv for the electron as complex wave magically becomes λ = h/mv = h/hv =  1/v =2πR = v/f = v/v2 = 1/v. If this is the right mechanical interpretation per Einstein’s original no-force-at-a-distance vision, then physical reality is elastic in a way that that is not yet understood. Space-time pre-geometry as vaguely described in “Gravitation” by Wheeler, Thorne and Misner does not work at the frequency pulse level. But  G ( R/3v2 (  R/(M does work. 

A proper interpretation of the de Broglie hypothesis 83 years later is that space-time auto-granulates, so that ( = 2πR, is a world line wavelength that is being pulse-transferred from one adjacent spinning R-volume of space to another next door. The replacement sphere radius R, has an outer surface made of smallest particles of radius G, which are moving as a world line group at speed, v, from one spin-adjacent R to another next door. R and G size-change in universal harmony (UH) per R/G ( 3v2, to present least friction movement of the ball bearing like G-size particles along a line of carrier material point R’s to form a single ray of radiation. What a monument to de Broglie that he had final truth well stated if only it had been rightly seen by Einstein!

The variable, n, can only be a count of rays passing in parallel through the undefined measurement aperture. It turns out that aperture for consistent anthropic measure, is that of an electron, whose n-value is 1/h. The R & G granulated ideal fluid dark matter of space-time is continually UH-driven. As Wheeler asked in a book dedication, “How could we be so stupid for so long? Wheeler knew Einstein better than anyone other than Einstein himself. They both knew we had not yet arrived at the right answer to the puzzle. G is space curvature and the now urgently sought Higgs particle-- as smallest unit of spin surface mass. For more on this revolutionary new theory please click on:

www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc 
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